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inference is easy using most methods

· Similar to elimination alg (exacti ordering]
· the data structure is meant to support Efficient elimination
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A " when 6 is chordal
.
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forfinding Its for a MRF that is chord a

Consider the complete graph on "2"
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When does BP peform well?

- Exact on trees

-

on a graph ~I cycle , converges but might be
wrong .

- Inthe limit of a large /usually sparsel graph
density estimation provides

an asymptoti 2px
to BP / performance .
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When does BP "work" for erasure channels ?
↳ When does its output =(whp) the original y?
↳
What fractor of

=

x (bitwise)
-omfactor graph for a LDPCS art

R6( n , m , l
= [1

, . . . ., (i) , r = (n , ... rm])
PC yi

= b(xi]= BP on
this F6

xilxiel mita(x) = Pyilxi] mb ilx;b-b : 15a3
r

Mati(xi)= [i mizalx)
omo In

j =2a)[i3
i

O--3 (*Xy*YS ! Claim :

I- []
⑧, I BP keeps missa

, t [i]-

Mansi (Y]





① a
a

①yes (*



=

*

O

.
a

It
9

9










